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The reason is because there is writing, but if there is no writing; no

OVERVIEW

X ruled that if a husband gave his wife a blank paper and said to her, ‘here is
your v)’, she is divorced, because there is the possibility that he wrote it P2°n "n2.
The X 13 challenges the ruling of XY from a 8n>>12 (regarding 2°09 TvW). MOLIN
clarifies the question and also the ruling of X1 including the meaning of pon 971.

mMooIn asks:
— NN 0092 90V 99N 91TNT OIVN 2N NIINT 13°¥27 NN 99NN ON)

And if you will say; the reason we require that there is writing in order that it

should be a v, is because he later said it is a 2905 VW -
— JAN) NN NN ‘,771'\ 97293 99N 9N ON th 9993 %23 NoN NI NN

And if it were in the same situation here regarding the blank paper, if he later

said it is a blank paper, he would be believed -
—oNIAYY 21N NYP RS YN XN V) TIRY At 95 o9YY Yax

However, as long as he said it is a v» and did not retract, she is divorced, so
there is no difficulty to reconcile Y8¥w with the xn>>12 of 2°0d Tvw.

N1B0IN answers:
— 25NINY MNP INT HYNINT RAYN PNYT XPIOT [11°97] 11159 W

And one can say; that since we presently assume that »X»w meant that she is

certainly n291a% (not just merely that we are concerned that perhaps she is nw ) -
— 3‘,75!'\ 4993 NINY INNA NP 2PUN NI 15 N

If this is indeed so (that if he gave her a P71 91 she is *X7) nw7an) therefore the
fact that it is a pm =21, that is not considered a defect in the v3 -

! mooin distinguishes between the case of 2°09 7uw where a 20 is necessary in order for it to be deemed a 3 and the
case of XMW where no writing is necessary in order for it to be a va (because 1203 P71 2 Raw 1Pw>n). In the case
of O°0o LW it is necessary that there is writing because later he contradicts himself and states that it is not a v but
rather a 0°0d 7VW, in such a case it is a VA only if there is a 2n> but not where there is no 2n3, and similarly by the
case of P71 71 if he would later say it is only a P21 771, she would also not be nw1n (just as by 0°00 vw), however
in the case of ?XmW he never retracted his original statement that it is a v3, there 21R»W maintains it is a v even if
there is no AN, since 1203 12°1 M2 RAW JPWIN.
2 The reason being, since he said Ju°a 17 71, we assume that he is serious and it was certainly written 1" "»3. See
later in this mdoIN.
? Even though it appears to be a P11 71 but we assume with certainty that it is not a p5r 91 (for she is Nw W *X7Y),
but rather that it is written 1°2°% °n2 (so there is a 202 here as well).
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— 90IND 191951 D INDT 9199139 19 1IN RN PN 9993 92 9IN) 9TNYI 15 ON)
So therefore even when he later states it is a P»n 231 we should rule that he is

not believed to prohibit her from marrying someone else (not as Mmoo assumed in the
XwIp) -

— *ans NIINT NI M9
Just as he is not 7707 7R3 when there is a an> (in the case of 2°05 q0w).

MooIn asks:
— th 9993 NYDYW ANIIT 1922 YINRP INT HVINNIT PHYT prv 2991 9NN ON)Y

And if you will say; how could it even have entered our minds that Hxmnw
meant she is N1 9871 since visibly it is a por 991?!

n90IN answers:
— 9¥aY 19212501 VYN 9272 TV NT 19N IINRT 1193 9D YN

And one can say; since the husband said; ‘here is your vx’, we believe the
husband even with a minimal proof that there is a 03 (written 722 "22) —

mooIn supports this concept from elsewhere:
— *numY Y1931 RN PINI SHYUN SNV 9INRY T332 1399INRT 9397 %5

Just as we rule that a husband who claims, ‘I divorced my wife’, he is
believed, since it is in his power to divorce her —

mooIn offers another option why we assumed that she is nw X7 by a pon 1
— “nopan) 1919 539 19PN RYPIPM 9N 3 NNPAPT 9NT 93 IN
Or you may also say; that we are discussing a case where initially two 27y read
the v3, and after they read it the husband took it in his hands and he brought it
out and gave it to her. We initially assumed that she is w2 *X7 (even though she is now
holding a pon 972) -
— 119990 N1YT 19PWN K91
For, we are not concerned that perhaps he exchanged the v3, which the o7y read,

with a P2 973, but rather we assume that it is the same v3. Now n901n addresses the issue, how
come it is blank now?!

* The s'x7x question is how can XM maintain that even if he would say it is a por 973, she would still be nwan,
but from the Xn»172 of 0°0d 7WW it is evident that we disregard his later statement only if there is a an3, but not when
there is no an>. The &3 is challenging the basic assumption of PXww that even without a 203 it is a valid va.
> Therefore we say he has no reason to lie, for if he wants he can divorce her right now, similarly when he said 77 >3
7% we know that he is serious and the v was written 72 *na. [This was just the X"¥1.] See “Thinking it over’ # 1.
6 The X1 shortly states that the case of 2°09 7w is in such a situation.
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— 91 999 NINY IN NN NYWA RY INNY MNRDT DN 1999
And when YRww said p9m 9, it does not mean that when the vs was given

people saw that it is a por 991 -
— DIND 1Y) 929 79N NYWAT 193 P03 1N P91 33 21N SN NP 199N 19 ONT

For if indeed this is the meaning of pon 93, then even if it was certainly written
with 9% ", it would not be a valid w3, since at the time of ;7°n1 the letters

were already absorbed into the 7°>1 and are not visible —
— Mp5a7 YD RNWN 1291 xm V999 99 TTINDa YINTS

As the X3 shortly states, ‘so what of it that the letters came forth; they only

came forth now’, but not when the v was handed to her -
— obhm 9553 7AW INT ¥92NY M1 NPIMNAY NPU 19N INN HNR NYY NIN

But rather the meaning of P>n 91 is that a certain amount of time after the
giving of the 03, the amount of time required for the letters (of 17°n °n) to be
absorbed in the 73, then the people saw that it is a o 9.

moon offers a final resolution to Por 7°°3:
— PIN 92 DAY NI PININ INT NN NYVAT 991D W N

And one can also say; that at the time of v37 n1’n: people saw from afar and it
appeared to them as a pbm 21 -

:131:"19’: DYHIND 1D 1232910 PN ON NIW)
But perhaps if they would have looked closely the letters would have been
apparent.

7 If Sxmw meant that it was a P51 71 when it was given to the woman, then we could not easily say that before the
01 there were 079 who read the w3, for it is unlikely that in this short duration the v3 would become a P21 971
¥ The difficulty in assuming that he actually gave her a p>n 71 is independent whether the 07y read it beforehand or
not; in any event we cannot assume that X1 meant it was a 73°n1 nywa pon 1.
’ The xm3 there explains we assume that it was written 7" *»3, since the letters appeared after we checked it with
X717 X, The X7n3 continues to ask that even this is insufficient to render this a proper v.
' Therefore in any event we cannot say that when the vx was given to her it was a pon 73, for then it would be an
invalid va.
" This applies even according to N9oI0 previous answer (that it was actually a p%r 2»3), for it will still be necessary
to say that even though no one read the v prior to the 71°n1, however it was not noticed that it was a pon 71 until a
71037 R Tyw, for otherwise we have the same difficulty ©2257 X171 Rnwn 17 °R1 V99 °2. See 0"n.
"2 In the X" we assumed in such a case she is nw n X7, since the 0>7v read it immediately before it was given,
and we are not wwn for *%n &n27. However according to the X1pon that we check it with X117 &1 and it was ©°%, it
may not be necessary to assume that it was read before the 71°n1 (see 711 71"72 n"'m1), but rather it was indeed a ™1
P2n. In which case (according to the X1pdn) we check it with X117 X°n and if the letters appear, only then are we
WIN? 1w, because perhaps the letters were visible v nnI nywa.
" See “Thinking it over’ # 2.
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SUMMARY

The X713 assumed that XY maintains that it is a v3 even if later he said it was just
a P71 7. In the 8™ the X3 assumed that she is *X77 nwan (by P2 7°1) either
because the 22 is always 7aX1 (for w3 17°21 2°K17), or because it was actually
read before they gave it to her, or because they viewed the v from afar.

THINKING IT OVER
1. According to the first Xnn°pIX of NN (that the Hva is 1K1 since it is 17°2
7w9),'* does Yxmw agree with the ruling of 27 29, that 77»p»% *>7% or not?"

2. According to the last Xn»*pwx of mooIN (that the people saw the va from afar),'®
why does X1mw say 120> 17°n "2 1w n, when he should have said, ‘if they were
closer they would have seen the an’?!"”

3. Of the three XN X in MBOIN (N "2 371,70 771 and P17 R1) which is the
most lenient (in allowing the v3 to be 7w>) and which is the strictest?

14 See footnote # 4.
15 See X"wamn and n"ma.
16 See footnote # 13.
17 See %™ 1w 1"1a n'"ma.
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